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Standard Form Homework Worksheet

1. Ben walks at a rate of 3 miles per hour. He runs at a rate of 6 miles per hour. In one week, the combined distance that he walks and runs is 210 miles.

a. Write a linear model that relates the number of hours that Ben walks to the 

number of hours Ben runs. (don’t forget let statements)
b. Rewrite this equation in slope intercept form
c. Ben runs for 25 hours. For how many hours does he run?

d. Explain how you set up the equation in standard form.  Then explain how you converted it to slope-intercept form.  
